Here is my factorial program:


.data


msg1:

.asciiz “The factorial is: “


msg2:

.asciiz “\n”


msg3:

.asciiz “Hello\n”


.text


.globl main


main:


addi $v0, $0, 4


la $a0, msg3


syscall


start:


addi $t0, $0, 1


addi $v0, $0, 5

# Reading in user input


syscall


add $t1, $v0, $0


bgtz $t1, top

# If the number is valid, we continue


jr $ra


# Otherwise, we exit


top:


beq $t1, $0, bottom
# Computation is finished


mult $t0, $t0, $t1
# result = result * N


addi $t1, $t1, -1

# decrement N


j top


bottom:


addi $v0, $0, 4

# Now we print out the result


la $a0, msg1


syscall


addi $v0, $0, 1


add $a0, $t0, $0


syscall


addi $v0, $0, 4


la $a0, msg2


syscall


j start


# Going back for another run


.end main

